

ON REPRESENTATION OF CERTAIN REAL NUMBERS
USING COMBINATORIAL IDENTITIES

George Grossman¹, Akalu Tefera², Aklilu Zeleke^{3 §}

¹Department of Mathematics
Central Michigan University
Mount Pleasant, MI 48859, USA

e-mail: grosslgw@cmich.edu

²Department of Mathematics
Grand Valley State University
Allendale, MI 49401, USA

e-mail: teferaa@gvsu.edu

³Department of Statistics and Probability

Lyman Briggs College
Michigan State University
East Lansing, MI 48824, USA

e-mail: zeleke@stt.msu.edu

Abstract: In this paper we present identities used to represent real numbers of the form $ab^n + c$ for appropriately chosen real numbers a, b, c , and non-negative integers n . Multiple forms of these identities using single and triple sums will be presented.

AMS Subject Classification: 05A19

Key Words: generalized Fibonacci polynomials, combinatorial identities, recurrence relations

1. Introduction

There are many examples of combinatorial identities that represent real numbers of certain type (see [8], [7], [6]). These identities were derived from studying the asymptotic behavior of the roots of a sequence of the generalized Fibonacci

Received: August 4, 2009

© 2009 Academic Publications

[§]Correspondence author

polynomials given by

$$F_j(x) = x^{j-1} - \dots - x - 1.$$

It is known that the positive roots of $F_j(x)$ are of the form $2 - O(2^{-j})$ (see [2], [4]). Grossman and Narayan [5] have proven that the single negative zero of $F_j(x)$ has the form $-1 + O(j^{-1})$ for j even and tends to -1 monotonically as $j \rightarrow \infty$. More general results on all of the zeros of derivatives and integrals of F_j are given in [13]. Using the fact that

$$F_j(x) = (x - 2 + \epsilon_j)(x + 1 - \delta_j)(x^{j-2} + a_{j-3}x^{j-3} + \dots + a_1x + a_0),$$

where δ_j and ϵ_j are positive, decreasing sequences for $j = 4, 6, \dots$. Grossman and Zeleke [8] have found an explicit form for the coefficients a_i , where $i = 0, 1, \dots, j - 3$, in terms of δ and ϵ . The solution was found by solving a non-homogeneous linear recurrence relation of the form

$$-a_n + b a_{n+1} + c a_{n+2} = 1, \text{ where } b = \epsilon - 1 - \delta, c = (1 - \delta)(2 - \epsilon).$$

As byproduct of this solution, several combinatorial identities were formulated by considering even and odd indexed terms of a_n .

Our goal in this paper is to apply similar techniques to the infinite sequence of $F'_j(x)$. It is known that the positive and negative roots of $F'_j(x)$ are of the form $2 - O(j^{-1}), 1 + O(j^{-1})$ (see [5]). Thus, one can write

$$F'_j(x) = (x - 2 + \epsilon_j)(x + 1 - \delta_j) \sum_{k=0}^{j-3} a_k x^k. \tag{1}$$

By multiplying out and equating like powers of x in (1) (suppressing subscripts) we get a system of equations

$$\begin{aligned} a_0 &= \frac{1}{(1 - \delta)(2 - \epsilon)}, \\ (1 - \delta)(2 - \epsilon)a_1 - (\epsilon - 1 - \delta)a_0 &= 2, \\ (1 - \delta)(2 - \epsilon)a_2 - (\epsilon - 1 - \delta)a_1 - a_0 &= 3, \\ &\vdots \\ (1 - \delta)(2 - \epsilon)a_j - (\epsilon - 1 - \delta)a_{j-1} - a_{j-2} &= j + 1. \end{aligned}$$

If we let $b = \epsilon - 1 - \delta$ and $c = (1 - \delta)(2 - \epsilon)$, and consider the even and odd indexed recurrences separately, then the middle $j - 1$ equations can be written as

$$-a_{2n} - b a_{2n+1} + c a_{2n+2} = 2n + 3,$$

and

$$-a_{2n+1} - ba_{2n+2} + ca_{2n+3} = 2n + 4.$$

By solving these recurrence relations using standard techniques and considering special cases we derive our main results.

2. Main Results

The following identities hold for any $n \geq 0$.

Theorem 1.

$$\begin{aligned} & \frac{1}{4^{2(n+1)}} \sum_{k=0}^n 9^k \binom{2n+1}{2k} - \frac{1}{4^{2(n+1)}} \sum_{k=0}^n 9^k \binom{2n+1}{2k+1} \\ &= \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^{j+1}}{2^{i+2+k}} - \sum_{i=1}^n \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &= \frac{1}{12} \left(1 - \frac{1}{4^n} \right). \end{aligned}$$

Theorem 2.

$$\begin{aligned} & \frac{1}{4^{2n+1}} \sum_{k=0}^n 9^k \binom{2n}{2k} - \frac{1}{4^{2n+1}} \sum_{k=1}^n 9^{k-1} \binom{2n}{2k-1} \\ &= \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} + \sum_{i=1}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &= \frac{1}{6} \left(\frac{1}{4^n} - 1 \right). \end{aligned}$$

3. Proofs of Main Results

We look for a solution of the form $a_n = c_1 + c_2n + c_3\alpha^n + c_4\beta^n$. Upon substituting this in the recurrence relation, we get

$$\alpha = \frac{b}{2c} + \sqrt{\left(\frac{b}{2c}\right)^2 + \frac{1}{c}} \quad \text{and} \quad \beta = \frac{b}{2c} - \sqrt{\left(\frac{b}{2c}\right)^2 + \frac{1}{c}},$$

and

$$c_1 = \frac{c - 2b - 3}{(b + 1 - c)^2}, \quad c_2 = \frac{-1}{b + 1 - c},$$

$$c_3 = \frac{3bc + b^3 + b^2c\sqrt{\frac{b^2+4c}{c^2}} + c^2\sqrt{\frac{b^2+4c}{c^2}}}{c^2\sqrt{\frac{b^2+4c}{c^2}} \left(b^2 + 2c + 2c^2 - 2bc + bc\sqrt{\frac{b^2+4c}{c^2}} - 2c^2\sqrt{\frac{b^2+4c}{c^2}} \right)},$$

and

$$c_4 = \frac{-3bc - b^3 + b^2c\sqrt{\frac{b^2+4c}{c^2}} + c^2\sqrt{\frac{b^2+4c}{c^2}}}{c^2\sqrt{\frac{b^2+4c}{c^2}} \left(b^2 + 2c + 2c^2 - 2bc - bc\sqrt{\frac{b^2+4c}{c^2}} + 2c^2\sqrt{\frac{b^2+4c}{c^2}} \right)}.$$

If we rationalize the denominator of c_3 , then we can write $c_3 = A_1 + A_2$, and $c_4 = A_1 - A_2$, where

$$A_1 = -\frac{1(c + b^2)((b - c)^2 + (c + 1)^2 - 1) + (b^3 + 3bc)(2c - b)}{c((b^2 + 4c)(2c - b)^2 - (1 - (b - c)^2 - (c + 1)^2)^2)},$$

and

$$A_2 = \frac{(c + b^2)(2c - b)\sqrt{b^2 + 4c} + (b^3 + 3bc)((b - c)^2 + (c + 1)^2 - 1)(\sqrt{b^2 + 4c})^{-1}}{c((b^2 + 4c)(2c - b)^2 - (1 - (b - c)^2 - (c + 1)^2)^2)}.$$

Thus,

$$a_n = \frac{c - 2b - 3}{(b + 1 - c)^2} - \left(\frac{1}{b + 1 - c} \right) n + (A_1 + A_2) \sum_{i=0}^n \binom{n}{i} \left(\frac{b}{2c} \right)^{n-i} \left(\left(\frac{b}{2c} \right)^2 + \frac{1}{c} \right)^{i/2} \\ + (A_1 - A_2) \sum_{i=0}^n (-1)^i \binom{n}{i} \left(\frac{b}{2c} \right)^{n-i} \left(\left(\frac{b}{2c} \right)^2 + \frac{1}{c} \right)^{i/2}.$$

At this stage we write a_n for even and odd cases separately. For even n (with even and odd terms separated) one gets

$$a_{2n} = \frac{c - 2b - 3}{(b + 1 - c)^2} - \left(\frac{1}{b + 1 - c} \right) 2n + 2A_1 \sum_{i=0}^n \binom{2n}{2i} \left(\frac{b}{2c} \right)^{2(n-i)} \left(\left(\frac{b}{2c} \right)^2 + \frac{1}{c} \right)^i \\ + 2A_2 \sum_{i=1}^n \binom{2n}{2i-1} \left(\frac{b}{2c} \right)^{2(n-i)+1} \left(\left(\frac{b}{2c} \right)^2 + \frac{1}{c} \right)^{(2i-1)/2}.$$

Substituting $b = -1, c = 2$ in a_{2n} and simplifying gives

$$a_{2n} = \frac{1}{4} + n + \frac{1}{4^{2n+1}} \sum_{i=0}^n g^i \binom{2n}{2i} - \frac{1}{4^{2n+1}} \sum_{i=1}^n g^{i-1} \binom{2n}{2i-1}. \tag{2}$$

A similar approach for the case when n is odd yields

$$a_{2n+1} = \frac{3}{4} + n + \frac{1}{4^{2n+2}} \sum_{i=0}^n \left[\binom{2n+1}{2i+1} - \binom{2n+1}{2i} \right] g^i. \tag{3}$$

We now proceed to derive the same identities using a different approach. We denote the coefficients a_n related to $F_j(x)$ by $a_{0,n}$ and those related to $F'_j(x)$ by $a_{1,n}$. It is known that

$$a_{1,2n} = \sum_{i=0}^{2n} a_{0,2i}, \quad a_{1,2n+1} = \sum_{i=0}^{2n+1} a_{0,2i}, \tag{4}$$

where for all $n \geq 0$,

$$\begin{aligned} -a_{0,n} - ba_{0,n+1} + ca_{0,n+2} &= 1 \text{ with} \\ a_{0,0} &= \frac{1}{c}, \\ a_{0,1} &= \frac{b}{c^2} + \frac{1}{c}, \\ a_{0,2} &= \frac{b^2}{c^3} + \frac{b+1}{c^2} + \frac{1}{c}, \\ a_{0,3} &= \frac{b^3}{c^4} + \frac{b^2+2b}{c^3} + \frac{b+1}{c^2} + \frac{1}{c}. \end{aligned} \tag{5}$$

Note that

$$a_{1,2n} = \sum_{i=0}^n a_{0,2i} + \sum_{i=0}^{n-1} a_{0,2i+1} = a_{1,2n+1} - a_{0,2n+1}.$$

From (4) and (5) we get

$$\begin{aligned} a_{1,0} &= \frac{1}{c}, \\ a_{1,1} &= \frac{b}{c^2} + \frac{2}{c}, \\ a_{1,2} &= \frac{b}{c} \left(\frac{b}{c^2} + \frac{2}{c} \right) + \frac{1}{c^2} + \frac{3}{c}, \\ a_{1,3} &= \frac{b}{c} \left(\frac{3}{c} + \frac{1}{c^2} + \frac{b}{c} \left(\frac{b}{c^2} + \frac{2}{c} \right) \right) + \frac{1}{c} \left(\frac{2}{c} + \frac{b}{c^2} \right) + \frac{4}{c}. \end{aligned}$$

It is known that [8],

$$a_{0,2n} = \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{n+1}}{1 - \left(\frac{1+b}{c}\right)} \right) + \frac{1}{c^{n+2}} \sum_{k=0}^{n-1} \sum_{i=2k+2}^{n+1+k} \binom{n+1+k}{i} \frac{b^i}{c^k},$$

$$a_{0,2n+1} = \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{n+1}}{1 - \left(\frac{1+b}{c}\right)} \right) + \frac{1}{c^{n+2}} \sum_{k=0}^n \sum_{i=2k+1}^{n+1+k} \binom{n+1+k}{i} \frac{b^i}{c^k}.$$

Thus, we get

$$\begin{aligned} a_{1,2n} &= \sum_{i=0}^n \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{i+1}}{1 - \left(\frac{1+b}{c}\right)} \right) + \sum_{i=0}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}} \\ &+ \sum_{i=0}^{n-1} \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{i+1}}{1 - \left(\frac{1+b}{c}\right)} \right) + \sum_{i=0}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}} \\ &= 2 \sum_{i=0}^{n-1} \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{i+1}}{1 - \left(\frac{1+b}{c}\right)} \right) + \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{n+1}}{1 - \left(\frac{1+b}{c}\right)} \right) \\ &+ \sum_{i=0}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}} \\ &+ \sum_{i=0}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}}. \end{aligned}$$

Similarly,

$$\begin{aligned} a_{1,2n+1} &= 2 \sum_{i=0}^n \frac{1}{c} \left(\frac{1 - \left(\frac{1+b}{c}\right)^{i+1}}{1 - \left(\frac{1+b}{c}\right)} \right) + \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}} \\ &+ \sum_{i=0}^n \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}}. \end{aligned}$$

If we let $r = \frac{1+b}{c}$ and use the geometric sum formula to simplify these expressions of $a_{1,2n}$ and $a_{1,2n+1}$, we get

$$\begin{aligned} a_{1,2n} &= \frac{2}{c^2(1-r)^2} (cn - (1+b)(n+1) + r^{n+1}) + \frac{1-r^{n+1}}{c(1-r)} \\ &+ \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}} \end{aligned}$$

$$+ \sum_{i=0}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}}, \tag{6}$$

$$\begin{aligned} a_{1,2n+1} &= \frac{2}{c^2(1-r)^2} (c(n+1)(1-r)) - \frac{2}{c^2(1-r)^2} ((1+b) - r^{n+2}) \\ &+ \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}} \\ &+ \sum_{i=0}^n \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{b^j}{c^{i+2+k}}. \end{aligned} \tag{7}$$

As before, if we let $c = 2$, $b = -1$ in (6) and (7), then we get

$$\begin{aligned} a_{1,2n} &= n + \frac{1}{2} + \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &+ \sum_{i=0}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}}, \end{aligned} \tag{8}$$

and

$$\begin{aligned} a_{1,2n+1} &= n + 1 + \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &+ \sum_{i=0}^n \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}}. \end{aligned} \tag{9}$$

Note that the first term in the second triple sum (i.e. the term corresponding to $i = 0$) of (8) and (9) is $-1/4$. Hence if the summation index i starts at 1 in each case, we get

$$\begin{aligned} a_{1,2n} &= n + \frac{1}{4} + \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &+ \sum_{i=1}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}}, \end{aligned} \tag{10}$$

and

$$a_{1,2n+1} = n + \frac{3}{4} + \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}}$$

$$+ \sum_{i=1}^n \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}}. \tag{11}$$

Comparing the expressions for a_{2n} in (2) and (10) and for a_{2n+1} in (3) and (11) gives

$$\begin{aligned} & \frac{1}{4^{2(n+1)}} \sum_{k=0}^n 9^k \binom{2n+1}{2k} - \frac{1}{4^{2(n+1)}} \sum_{k=0}^n 9^k \binom{2n+1}{2k+1} \\ &= \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^{j+1}}{2^{i+2+k}} - \sum_{i=1}^n \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &= \frac{1}{12} \left(1 - \frac{1}{4^n} \right), \end{aligned} \tag{12}$$

and

$$\begin{aligned} & \frac{1}{4^{2n+1}} \sum_{k=0}^n 9^k \binom{2n}{2k} - \frac{1}{4^{2n+1}} \sum_{k=1}^n 9^{k-1} \binom{2n}{2k-1} \\ &= \sum_{i=1}^n \sum_{k=0}^{i-1} \sum_{j=2k+2}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} + \sum_{i=1}^{n-1} \sum_{k=0}^i \sum_{j=2k+1}^{i+1+k} \binom{i+1+k}{j} \frac{(-1)^j}{2^{i+2+k}} \\ &= \frac{1}{6} \left(\frac{1}{4^n} - 1 \right). \end{aligned} \tag{13}$$

Remark. There are known results for representation of real numbers of type (12) and (13) using single sums. For example, using a computer algebra system such as *Maple* and the results in [1], it is well-known that

$$\begin{aligned} \sum_{k=0}^n \frac{1}{a^k} \binom{n+k}{2k} &= \frac{1}{(2a)^{n+1}} \frac{a}{\sqrt{4a+1}} [(2a+1+\sqrt{4a+1})^n (\sqrt{4a+1}+1) \\ &+ (2a+1-\sqrt{4a+1})^n (\sqrt{4a+1}-1)], \end{aligned} \tag{14}$$

$$\sum_{k=0}^{n-1} \frac{1}{a^k} \binom{n+k}{2k+1} = \frac{1}{(2a)^n} \frac{a}{\sqrt{4a+1}} (\alpha^n - \beta^n), \tag{15}$$

where $\alpha = 2a + 1 + \sqrt{4a + 1}, \beta = 2a + 1 - \sqrt{4a + 1}$. By substituting $a = 2$ and multiplying both sides of (14) and (15) by $2^{-(n+2)}$, one recovers the results discussed in [8]

$$\frac{1}{2^{n+2}} \sum_{k=0}^n \frac{1}{2^k} \binom{n+k}{2k} = \frac{1}{4^{2n+1}} \sum_{k=0}^n 9^k \binom{2n+1}{2k+1} = \frac{1}{6} \left(1 + \frac{2}{4^{n+1}} \right)$$

and

$$\frac{1}{2^{n+2}} \sum_{k=0}^{n-1} \frac{1}{2^k} \binom{n+k}{2k+1} = \frac{1}{4^{2n}} \sum_{k=0}^{n-1} 9^k \binom{2n}{2k+1} = \frac{1}{6} \left(1 - \frac{1}{4^n}\right).$$

References

- [1] Stefan Czekalski, Private correspondence, In: *Fourth International Conference of Applied Mathematics and Computing*, Plovdiv, Bulgaria (August 12-18, 2007).
- [2] F. Dubeau, On r-generalized Fibonacci numbers, *The Fibonacci Quarterly*, **27**, No. 3 (1989), 221-229.
- [3] *EKHAD*, a Maple package by Doron Zeilberger, <http://www.math.rutgers.edu/~zeilberg/>.
- [4] I. Flores, Direct calculation of k -generalized Fibonacci numbers, *The Fibonacci Quarterly*, **5**, No. 3 (1967), 259-266.
- [5] G. Grossman, S. Narayan, On the characteristic polynomials of the j -th order Fibonacci sequence, In: *Applications of Fibonacci Numbers* (Ed. Fredric T. Howard), **8** (1999), 165-177.
- [6] G. Grossman, A. Tefera, A. Zeleke, Summation identities for representation of certain real numbers, *International Journal of Mathematics and Mathematical Sciences*, E-journal, **2006** (2006), Article ID 78739, 8 pages.
- [7] G. Grossman, A. Tefera, A. Zeleke, On proofs of certain combinatorial identities, *Congressus Numerantium*, **194** (2009), 123-128.
- [8] G. Grossman, A. Zeleke, On linear recurrence relations, *Journal of Concrete and Applicable Mathematics*, **1**, No. 3 (2003), 229-246.
- [9] W. Koepf, *Hypergeometric Summation: An Algorithmic Approach to Summation and Special Function Identities*, AMS (1998).
- [10] M. Petkovšek, H.S. Wilf, D. Zeilberger, *A = B*, A.K. Peters, Wellesley, Massachusetts (1996).
- [11] R.P. Stanley, *Enumerative Combinatorics*, Volume I, Cambridge University Press (1997).

- [12] K. Wegschaider, *Computer Generated Proofs of Binomial Multi-Sum Identities*, Diploma Thesis, RISC, J. Kepler University, Linz (1997).
- [13] Z. Zhu, G. Grossman, On zeros of polynomial sequences, *Journal of Computational Analysis with Applications*, **11**, No. 1 (2009), 140-158.